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LINGUISTICS
PAPER —1II

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all of them.

1.  Arrange the following concepts in order in which they appeared :
(i)  First sound shift
(i) Law of aspirate dissimilation
(iii) Language and Parle
(iv) Regularity Hypothesis

Codes :

(A) @) @) @) (iv)
(B) (i) @ (v) (i)
Q) (v) @) G) ()
(D) @) G (v) (i)

2.  Arrange the following linguists in an ascending order with reference to their
contributions to linguistics :

(i) F. de Saussure
(i) Noam Chomsky
(iii) L. Bloomfield
(iv) J. R Firth

Codes :
(A) @ @) @) (v)
B) @ Gv) (@) (i)
© @ @) (@v) ()
(D) @@ @) (v) (i)
3.  Identify the odd one from the list of Heads in the x-bar theory :
(A) Noun (B) Adjunct
(C) Preposition/Postposition (D) INFL

4.  Assertion (A) : By ‘interchangeability’ in human language is meant that there is
interchange of communication between the speaker and the hearer
in the language.

Reason (R) :  When human beings communicate in language there is interchange
of one language with another.

(A) Both (A) and (R) are true (B) Both (A) and (R) are False

(C) Only (A) is true (D) Only (R) is true

D -3107 2



RIEIREEIE]
qoaA —11
A : T TS | e (50) 9g-fahedia ue ¥ 1 Ue U % & (2) 3ok &1 el el o I
T
1. 7 saumonst 1 UfaeiiEehal & YR T SHHeg i |
() 9uH TA-ReEd
(i) W fawHteRor fem
(iff) T SR E
(

() T S gL
(ii) ST =R
(il) T SFHICS
(iv) . IR w
HT :
(A) 1) @) (D) (i)
B) ) (v) @) (i)
© @ @) (@v) (i)
(D) @) @ (v) (i)
3. TH-ah fagia | wfel ot g=t § 9 foda v o1 ge=nfe
(A) G (B) IS
(©) el srgert (D) favif
4. 3IfHIT (A) : TFE-a H fafraEdr @ Afurr ae aun g & 7 g9 6 fafme ¥
@& (R) : 9 AT W % HIEAH § GUW0 A §, 399 T W R qHA AT 9
fafrra 2 ¥ |
(A) (A) TN (R) T T2 € (B) (A) T (R) T Terd € |
(C) Had (A) TR | (D) ad (R) T&l Tl
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5.  Identify the odd item from the list of the following sentence types :
(A) interrogative (B) exclamative

(C) infinitive (D) imperative

6.  The concept ‘item-arrangement’ is associated with :
(A) L. Bloomfield (B) Edward Sapir
(C) Fardinand de Saussure (D) C. F. Hocket

7. According to Jacobson poetic function is dominant when the focus is on :

(A) Message (B) Context (C) Speaker (D) Channel

8.  Match the nodes in List-I with men expansion in List-II and select the correct answer
from the codes given below :

List - 1 List - I1
(@) VP (i) D+i
(b) IP (i) D+N
(c) PP (iii) V+N
(d) DP (ivy P+D
Codes

@@ (b) (o) (d)
(A) (@) @) @Gv) (i)
(B) (@) @) @ (@)
(© Gv) @) @) @)
D) @ Gv) @) (i)

9.  Malto belongs to the :
(A) Astro-Asiatic family (B) Tibeto-Burmian family
(C) Dravidian family (D) Indo-Aryan family

10. The sounds [k] and [n] are similar in their :
(A) manner of articulation (B) voicing

(C) An-stream mechanism (D) place of articulation

D -3107 4



5. Trafatead aea-ved 9 § fodma g&q 6 9g=n
(A) TEETEE AT (B) fawrenfeaivs =
(C) TuY (I9aTeR) (D) 3T o

6. ‘He-Ta=ara’ i ¥R 1 Yiqared fohar
(A) TA. SABICS A (B) TSHE WUR A
(C) TwiEAR g TR A (D) . TF. ke

7.  ShIeEH o STTER, HIeAcHSE Yohtd dd Yaal (3R Jret) &l €, STd Hhiehd :
(A) TR (B) WET/HeH W
(C) FHT WA (D) TR/ =" WA

8. Wow gl % SEU 1 fgater get § sifha 3ok fosaia &4 9 faam wifse oiv = fou
T Gehdl H © =9 hd g T oA w1 e s

gorT et foeia q=it
@) VP i) D+i
(b) IP (i) D+N
(c) PP (i) V+N
(d) DP (iv) P+D
"HT-Gl

@ () (o (d
(A) () @ (@v) (i)
(B) (i) (i) (@) (@)
(© (@) () @) (@)
(D) @ (v) () (i)

9.  HIGII WY 1 HeY
(A) oTEI-TREfeH/qeI qRaR € 81 (B)  foesdi-a aRem 9§ T
(C) sfosafEr @RI (D) YRdTF-2T IR | |

10. [k] 3R [n] s H UM 61 STER T
(A) SHARI-HIE (B)
(C) SMg-Yele hi Ufsha- (D) SERU-TM
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Match the items in List-I with List-II and select the correct answer from the codes

List - II
i)  Turkish
ii) Russian
iii) Sanskrit
iv) Chinese

Match the items in List-I with List-II and select the correct answer from the codes

List - II
i) [—human *male —adult
ii) [—human +male +adult
iii) [+human *male —adult

— e e

iv) [—human —male +adult

Match the items in List-I with List-II and select the correct answer from the codes

11.
given below :
List - 1
(a) inflectional
(b) isolating
(c) inflectional and syncretic
(d) agglutinating
Codes :
@ ® (© ()
(A) (@) (D) (v) (i)
B) Gv) @ @) ()
© @) @@ 3> @)
(D) @) (@Gv) @) @)
12.
given below :
List - 1
(a) ram
(b) ewe
() lamb
(d) child
Codes :
@ ® (© ()
(A) @) @) @) @Gv)
(B) G) (v) (@) (D)
(© @) @Gv) G @)
(D) Gv) (@) @ (D)
13.
given below :
List - 1
(a) Sound Pattern of English
(b)  Sociolinguistic Patterns
() Morphology
(d) Dialectology
Codes :
@ b © (@
@) O @) G @)
® () O @) @)
© (@) (v @) 0
D) (v O @) ()
D —3107

List - II
(i) J. Chambers and P.Trudgill
(i) P. Matthews
(iii) N. Chomsky and Morr’s Halle
(iv) W. Labor



N. Chomsky and Morr’s Halle

J. Chambers and P.Trudgill
W. Labor

P. Matthews

[—OFd + 7 — 99|
[—HFE + T+ T9h]
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forta it

A~~~

o e W 1 g G A A @ e i, SR A @ g @
o e 1 Tal i gt geit &1 A @ o wifs, ok i & 7 Soha-get § 9§ =
(@)
(it
(i)
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o e W 1 g G A A @ e i, SR A @ g @
(@)
(i
(iif)
(iv)
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.o ~ W . .o
N
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11.
12
13.
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14.

15.

16.

17.

18.

When linguistics forms of genetically related languages show phonological and semantic
similarity, they are called :

(A) relic form (B) sets of correspondences

(C) synonyms (D) cognates

In Saussrean System a ‘sign” has a :
(A) functional relation (B) triadic relation

(C) diadic relation (D) arbitrary relation

In the sentence ‘she likes the movie, doesn’t she ?” there is :
(A) a un-question (B) ayes-no question

(C) atag question (D) a tag imperating

Match the items in List-I with List-II and select the correct answer from the codes
given below :

List - 1 List - 11
(a) whose (i) nominative
(b) she (i) vocative
() me (iii) objective
(d Osun! (iv) genitive
Codes

@ () (© ()
(A) @) @@ @ (@dv)
(B) (v) @) @) @
(© (@v) @) @) ()
(D) (@) @) (v) (i)

The term ‘neutralization’ refers to :

(A) the loss of distinctions between two phonemes in a particular environment

(B) the process in which a sound becomes non-distinctive
(C) the loss of a phoneme in a word final position
(D) the merger of two sounds into one



14.

15.

16.

17.

18.

STE e gfte | Haftra wrneti o6t itk gepreal | @ fshan iR s1ef & T W g9 faa
qATHI%T

(A) Tafere 9 AFd £ (B) TSl Tl 1 TY=T WA € |

(C) TafET=t 9 d | (D) HSd €9 T & |

HE ! AN o TR ‘Hohd ' h1 TSR & 1Y HaY
(A) YHMEIHE © (B) SIHS ¥
(C) Teoh-Teh © (D) agfes® T

‘she likes the movie, doesn’t she ?” I8 dIH :
(A) ‘H'-THE (B) ‘®-MUFT
(C) & 99/ Y § (D) 3T 3T/ 37 3T ©

Y| Gt & 7l ol fgeia Geit i 79a) 9 e #ifse, oiX 9= & T8 Hoa-g=t o 9 ==
FA gC Tl e o fadw s

e et fediter =it
(a) whose (i) HYRRD
(b) she (i) HNYTHRH
() me (i) PTIHRER
(d Osun! (iv) HehNeh
Tha-ger :

@@ (b) (o (d)
(A) @) @) @ ()
(B) (v) () () (D)
© @v) (@) (@) (i)
(D) @) @)  (@v) (i)
“fafeoeeRor’ &1 aed §

A) uREe for § 9 @i | fadg & @

B) Ufshan i T wafd sTafi=ses & Sl ©, U9Ss e Tl |
C) v=eia # fordlt wafm =1 @

D) < =t &l T | foered
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19.

20.

21.

Identify the odd one from the following list :
(A) lexeme (B) word
(C) morpheme (D) borrowing

Arrange the following in order in which they appeared :

(i) Standard Theory
(i) Syntactic Structure Model
(iii) DP Hypothesis

(iv) X-bar Theory

Codes :

A G G G )

B G O @) (i)
© v @ G 0

D) @) @ @) ()

Arrange the following concepts in order of their appearance :

(i)  Lexical Diffusion

(i) Neo-grammorian Hypothesis

(i) Social motivation of sound change
(iv) Synchrony and diachrony

Codes :

(A) () @ () (i)

(B) @ @) (v) (i)

(© () (v) @) (@

(D) (i) (@) (v) (i)

22.

Identify the odd item from the following types of distribution of sounds in a language :
(A) Contrastive (B) Equal

(C) Complementary (D) Defective

D -3107 10
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19
20.

e fagm

i)

-G FiqHH

ii)

iii) TSR STfvehea

(

(

(

(iv) X-aR fagm=
BT :

(A)

(B)

(iv)
(iif)
(@)

(iif)
(iv)
(i)
(iv)

(i)

()

(@)

(i)

(i)
@)

(iv)
(i)

(©

(i)

(D)

T STaUROSTi ol 3Tk TG o STMUR T hHdG hifaT |

21.

i) wnfsger fomm

SATeheTT
i) TE-qRade & A Ik

v) HHHIThAl q fgehtershd

F-

i)

< i ppam| o
~— ~— ~— ~—

(iv)
(ii)
(@)

(iif)
(iv)
(i)
(iv)

(i @

(A)

(B)

(i
(iv)
()

(i)

(©

(D)

(i)

(iii)

11 H eafel & faao-wedi w1 frefafaa =i 9 | fodrd 92 =t 9g=m s

(A) Afdeht foaem
(©) T faa

22.

g famo
fasrar faao

(B)

(D)

P.T.O.
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23. Match the List-I with List-II and select the correct answer from the codes given

below :

List - 1 List - 11
(a) Dravidian (i) Bhojpuri
(b) Indo-Aryan (i) Rabha
(c) Tibeto-Burman (i) Tulu
(d) Austro-Asiatic (iv) Korku
Codes

@ ® © @
(A) ) @ @ @)
B O @ @) (i)
© @) Gv) @i @
D) Gv) i) @) ()

24. The notions ‘mentalism’ and ‘behaviourism’ came from :
(A) Education (B) Psychology

(C) Anthropology (D) Political Science

25. Arrange the following books in order in which they were published :

(i)  Minimalist Program

(i) Logical Structure of Linguistic Theory
(i) Lectures on Government and Binding
(iv) Aspects of the Theory of Syntax
Codes :

(A) @ @) (D) (v)

(B) (@@ @) (@v) @

(€ (@v) @) @@ @

(D) @) @ (v) ()

D -3107 12



P.T.O.

fgate g=it
ISR

T
TR & T
TSR i & |

g £
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?JTITTHTf :
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(iv)
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~— ~— ~ ~ =

v gt
Toremmemes =1 €1
fafmfae gom
TAfSTehel o 31 fafiaies e
(ili) TR A TEHE TUS AR
i A T
(iii)
(iv)
(ii)
(iv)

(C) Taam = T |

SR
(0 ()
(i)  (iii)
(iv) (iii)
(i) (i)

(iv)
Hie
(A)
(B) (i
(©
(D)
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STRI-URTfeeh/ gl
b) ()
i) ii)
i) (iv) (i
iv)  (iii)
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(a)
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(©)
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(A)
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(i)
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(i)
(iii)
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24.
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26. Arrange the following books in chronological order in which they appeared :

(i) Verbal Behavior

(ii) Course in General Linguistics

(iii) Suprasegmentals

(iv) Biological Foundations of Language
Codes :

(A) @O G @) (@)

(B) @) (D) @) @

© @O G @v) ()

(D) @) @ G @)

27. Lexicography refers to :

(A) The science of dictionary making

(B) The study of lexemes of a language

(C) The lexical patterning of a language

(D) The overall study of a language’s vocabulary

28.  Which of the following pairs is not correctly matched ?

(A) A language in which words are distinguished in terms of only pitch differences -
Stresstimed

(B) The obligatory part of the syllable - Onset
(C) The unanalyzable part of a word - Root

(D) The syntactic category of the word may change - Derivational Affix

29. Which of the following pairs is correctly matched ?

A) There is no alternation between two speech sounds ... Clitic

B) The voicing is delayed ... VOT

C) An unanalyzable shape in which two units are fused ... Neutralization

D) A word fuses with another word but keeps its meaning ... Contraction

D -3107 14



26. Tr=fcfEd Siideni sl ST YhRE-T9 o YR T HAAG HiST
i) ol forfat

i) " 3 SRa feffafesd

i) FIETHeH

(
(
(
(iv) SRR FRUSH 3116 o

27. HIThHE/ IR T acdd @ :

28. =1 9 9 5w 53 1 e 921 76T § 2

A) g 9T o o # 3TRR X W S el § - s et
B) focted w1 SAfe sesh - gRY

C) ¥ &I Afawevig 9 - ‘&'’

D) T i IR hife - Rl I

~—"

(
(
(
(

29. T H 9 9H 9 5T 1 SIS Wl §2
(A) T T % S TR TR T L. g
(B) v fa@fed € ... VOT
(C) T sfovafrd stepfa forad < gl o1 S 2 ... Ffefurier
(D) T VI T vss H foeafad 2ran € ... dped
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30.

31.

32.

33.

34.

The distinction between a structural category and a functional category is that :
(A) a structural category has a structure and a functional category has a function.

(B) a structural category has a complex structure whereas a functional category has
complex function.

(C) a structural category is defined in terms of formal make up and formal relations,
whereas a functional category is defined in terms of its function in relation to
other units.

(D) a structural category is defined in terms of other structural categories, whereas a
functional category is defined in terms of other functional categories.

The number of syllables in the word ‘Examination” is :

(A) five (B) three (C) four (D) six

‘He hissed his mystery lecture’ is an example of :
(A) Metathesis (B) Epenthesis

(C) Spoonerism (D) Dissimilation

The term ‘Generative Grammar’ means -
(i)  An explicit grammar, and

(i) A grammar which generates all and only the correct structures of a language on
the basis of small number of linguistic units and rules.

(A) Only (i) is true (B) Only (ii) is true

(C) Both (i) and (ii) are False (D) Both (i) and (ii) are true

‘Vernacular’ in Labov’s model of socio-linguistics refers to :
(A) the speech which is consciously monitored

(B) a regional standard variety

(C) the least self-conscious style of speech

(D) a dialect which is substandard

D -3107 16



30.

31.

32.

33.

34.

Teh G hife 3R Teh YehicHer hife | I8 7= ¢ foh :
(A) T HLEHARES Fife H AT Bt & T Teh YhITh hife I Yehrd aral & |

(B) T W EAIHS Hife H Tk Wil TLa Bl 8 3R T TR hife il Th Sifed
T BT |

(C) T TEHATH IS i TRTON I SMER THATER €Y T TAEER T4 T 8, Selfh
Teh Yehriceh shife shi RYTHT 1 STUR T hifedi o |1 ¥ Fraif-od e 2d € |

(D) T GTEAIESE Hife Hi URAT HT SR U TEHF HIfAT &, Selfh Jehmaicash
A 1 MR Fehricash hifeat ¥

“Examination’ H 3180 i 9T :

(A) TR (B) WA (C) IRTI (D) B: %

‘He hissed his mystery lecture” 9@ dTsH :
(A) Tawia 1 SeRew T (B) fuffef 1 3w T
(C) TgRal/ STRIeR faueia o ST €1 (D) foreiehton o1 QT g |

" YTTcHes SRl 1 27 ® -
() gHE AR, AR
(i) U AR S Teh W1 i oS & sohreal iR el o seR W 9t o) shaa a&t

HTEATS 1 IS BT B
(A) Had (i) TR I (B) Had (i) TR 1
(C) (i) 3R (i) ST TTeTd €| (D) (i) 3R (ii) I =& T

TSI SMEA & ek R W& HIed H ' gper’ wIsg ¥ aead @ :
(A) Fo[ €9 § TR Y ST T 9T S8R

(B) RIS & HIeh W

(C) TS SAER ! =JAqH Hehld aTett et

(D) el S\ &
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35. Which of the following is an “aid” for language teaching :

(A)

(©

word games (B) syllabus

gradation (D) lecture method

36. Assertion (A) : When the subject of an infinite clause is null, it is called a PRO.

Reason (R) : A PRO is so called because it stands for another word.
(A) Both (A) and (R) are true (B) Only (A) is true
(C) Only (R) is true (D) Both (A) and (R) are false

37. If and only if whenever a sentence S, is true, a sentence S, is also true, the relation
between S, and S, is said to be of :

(A)
(©

Presupposition (B) Complementarity

Meronym D) Entailment
ymy

38. The word ‘dharma’ changing to ‘dharam’ is a case :

(A)
(©

syncope (B) metathesis

haplology (D) anaptyxis

39. Density of communication is directly proportionate to :

(A)
(©

language variation (B) linguistic homogeneity

barriers communication (D) infrequent interaction

40. Which of the following pairs is correctly matched ?

A word takes a more general meaning than before - Semantic shift

A word comes to be used in rare contexts - Lexical attrition

Different geographical regions have different words to represent a concept -
Semantic variation

Inflectional affixes tend to be lost in a language - Radical change
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35.

36.

37.

38.

39.

40.

qTITTeTor § 378 9 fohahl T U0 & &9 H TN 8l § 2
(A) ¥=-Te/IE T (B) dreaI-feremon

(C) SHA-TATTH (D) =N faf

AfUFHIT (A) : =19 gAY AT 1 38T I A §, SH PRO e T |

T (R) : PRO - {8, FHifh I8 Tk 21 I o TIM W 2T T
(A) (A) 3R (R) ST @&t € (B) o (A) TRl ¥
(C) Fad (R) T T (D) (A) 3R (R) I Terd 1

Ffe 3R ot afe S off T e S, W B © A GO e S, oft Wl B |, S RS, W
ey R i Tw A g

(A) AT (B) A
(C) ‘Hf (D) 3R

‘e’ R e /T S

(A) WHIUEAT T I T | (B) fawda =t e ¥
(C) HHIMR T %1 3T & | (D) T~ fo T ST T |
YT hT FEAT 1 Tedel ST Tl §

(A)  H-fosheT 91 (B) YT HH&YAT ¥ |

(C)  EIwu-foran § semeRil dcll |1 (D) fotet Hare |

fedafra g w Scud 87

(A) T wE A 31 vRe Y foreqa Frn § - e ge™

(B) T g HfHa Haedl H wge B © - wfesew B

(C) firm diriiferer &t W sraeRon & o firet w1l o1 womT o € - enffen fafier
(D) o1 st &Y fafgar oo & S € - ga uftedd
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41.

42,

43.

44.

45.

Assertion (A) : Word by word translation fails to lead to the sense of the original

proverb.

Reason (R) :  Because proverbs, idioms and phrases are single units as far the
meaning is concerned.

(A) (A) is true but (R) is false (B) Both (A) and (R) are false

(C) (A)is false, but (R) is true (D) Both (A) and (R) are true

Assertion (A) : In X-bar theory, all lexical categories are phrasal categories.

Reason (R) :  INFL is not a lexical category, but a phrasal category.
(A) (A)is true, (R) is true (B) (A) is true, (R) is false
(C) (A) is false, (R) is true (D) Both (A) and (R) are false

Logographic system of writing represents :
(A) sounds (B)
(C) syllables (D)

words

ideas

Dravidian languages include :
(A) Tamil, Oriya, Hindi (B) Malayalam, Telugu, Kannada
(C) Tulu, Punjabi, Marathi (D) Brahui, Burushaski and Tamil

Select the correct order of the books according to the year in which they were
published :

(i)  Sociolinguistic Patterns
(i) Aspects of the Theory of Syntax
(iii) Languages in Contact

(iv) Foundations in Sociolinguistics

Codes :

(A) @) G @ @)
B @O > (@v) ()
© @ (@v) @) @
(D) (v) @) @ (i)
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41.

42.

43.

44.

45.
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SIUFHLT (A) : VST STIAIE T AhIfeR & 1ef ol Tl U1 2|

HRUT (R) Fiifeh kIl Qe R ugary 31¢f & grary § Ufheh gohlE T |
(A) (A) H& B, T (R) T T | (B) (A) 3R (R) i TTerd ¥ |

(C) (A) 7Ted €, WG (R) T ¥ (D) (A) 3R (R) <1 &&t €1

SIYFHLT (A) : X-9R g % 38R | Wit Hife qearia Hife Tt g
FHNT (R) : el (INFL) ¥nfseeh shife & Tegd earsiia wife g1

(A) (A)FE T, (R) & T (B) (A) T %, (R) Tew ¥
(C) (A) TEd %, (R) T ¥ (D) (A) 3R (R) ST Tord |
VST @A Ugfd & ey § :

(A) =t g (B) W= d

() w&i¥ (D) wEi @

gfae yreti # o € -

(A) dfie, siifean, & (B) e, Iel, FIS

(C) e Ui, A (D) SITEE, SEeeh, dftet

frAfafEaa Jwehl &1 ThRE-a9 & STYR W ¥e foased gMHT |
i) Oefafafies fed



46. In traditional dialectology the methodology involved selection of :

mobile, rural, older people
rural, non-mobile, young males
non-mobile, older, rural males

non-mobile, urban, old people

47. ‘Innateness’ refers to :

A)
B)
©

)

(
(
(
(D

the speaker’s knowledge of his language
internal structure of language
the speaker’s ability to use the language

the child’s predisposition to acquire a language

48. Communicative competence refers to :

the native speaker’s tacit knowledge of his/her language
the speaker’s special ability as communicators in society
the speaker’s ability to use socially appropriate language

the speaker’s mastery over all rules of grammar

49. Identify the correct order in which the following sound laws appeared :

(A)
(B)
(©
(D)

50. Arrange the following linguistics in order in which they appeared in linguistics :

Grassmann’s Law, Grimm’s Law, Verner’s Law, Fortunator’s Law
Verner’'s Law, Fortunator’s Law, Grassmann’s Law, Grimm’s Law
Verner’s Law, Grimm’s Law, Fortunator’s Law, Grassmann’s Law

Grimm’s Law, Grassmann’s Law, Verner’s Law, Fortunator’s Law

(i) Noam Chomsky

(i) Zellig Harris

(iii) Leonord Bloomfield

(iv) Ray Jackendoff

Codes :

(A) Gv) () @) ()

(B) @) @) @ @)

© @) @@ @v) ()

D) @ @) 3D @)
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46.

47.

48.

49.

50.

RORTA SR st STeaa=-omet H§ gehari § THaTe SAfad-99g © :
(A) TM SEeId @], THII, STalehd o safe

(B) T, Weh &I T W TR, e g

(C) T & T W fRer, s7iaaan g, T geu

(D) W B T W e, wewerH, 95 =Afw

* Sfqsticar’ 1 arcdd ® ¢
(A) ST I T FH

(B) WY hl 3T HT=

(C) ST SRl W1 YT WA

(D) 1 < TSI H dTcteh i qagid/ g
Y01 &THAT T AT T

(A) <R oo 9T B Sfaféd - 9

(B) HHTS H HUYWYT B ookl skl fowiy T

(C) TSI gfte ¥ UG WToT- S8R § Jerl 1 drHed
(D) AR & FHE Il T o1 1 SRR
frAfafeaa wa-aRada fmi o w8 %4 faf=a ST
(A)  THE o, B &, 3 &, wgTaa ar

(B) ad o, WG i, UreHst o, st &t

(C) o o, firest &, wgAaa off, et ot

(D) Tirs &, i &, 9 &, wRgAaa ot

=1 vroTfaei <l Sk ATOITaRE | STl o SR W heg hifsy :
()  TeTH =R

-00o0-
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